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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on 1 your answeet;

1-  The geology student made a surprising discovery; the volcano believed to be ......... was
about to erupt.
1) dormant 2) temporary 3) affable 4) vulnerable
2-  We waited for the storm to ........... before we left.
1) abase 2) abide 3) abridge 4) abate
3-  The minister desired the position simply for the .......... associated with it.
1) scope 2) status 3) origin 4) feature
4- The........... researcher made sure to check her measurements multiple times.
1) initial 2) vague 3) diligent 4) apposite
5-  Denver’s impractical plan to build a subway system was .......... in 1970s.
1) surmised 2) scrapped 3) strived 4) scattered
6- el such as hair color and eye color are inherited genetically from one’s parents.
1) Traits 2) Dimensions 3) Omens 4) Enigmas
7-  The company has ........... $1000 to the team to get the project started.
1) ascribed 2) bestowed 3) deposited 4) allocated
8-  After a week the jury had still not reached a ............ .
1) status quo 2) sequence 3) verdict 4) suspect
9- Heavy rains had .......... the expedition’s progress through the north-west of the country.
1) abandoned 2) hindered 3) evaded 4) distressed
10- The rattlesnake is the most ............. snake in the Untied States.
1) venomous 2) zealous 3) haphazard 4) ancestral

PART B: Cloze Test
Directions: Read the following passage and decide which choice a, 2), (3), or

(4) best fits each space. Then mark the correct choice on your answer sheet.

The ancient Romans built an extensive and (11) ......... to serve their needs. The Roman road-
building era began in 312 BC. The roads provided economic and military access from Rome to
distant parts of its far-flung empire. The first road 12) .......... the Appian Way, which led,
from Rome to Brundisium (now Brindisi), a port (13) ......... is now southern Italy. The
Appian Way was the main route to Greece, and it ran over 560 km (350 mi). A second road,
from Rome to Naples, provided the first stage of the route (14) .......... by troops headed to
Africa. Roman advances in road-building techniques included preparation of foundation soils
and base courses, brick paving , and, (15) .......... , provision for adequate drainage.

11- 1) roads of durable system 2) system of durable roads
3) durable system of roads 4) durable road of systems

12- 1) was constructed 2) was to construct
3) that was constructed 4) constructed was

13- 1) in which it 2) in what 3) where is 4) which it is

14- 1) used 2) using 3) be used 4) was used

15- 1) the more important 2) most important

3) the most important 4) most importantly
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Passage 1:

Originally used in the aerospace industry, carbon composites are finding increased
application in the chemical process industries as corrosion-resistant materials. Primarily used to
make column and reactor internals in highly corrosive environments, such as acids (HC1, HBr,

HF,H,80,,H;P0,), acetic acid derivatives, caustic and ammonia and chlorinated

hydrocarbons, carbon-composites are being used in trays and supports, column liners, packing,
sparger and distribution tubes, and support members such as I-beams, thermowell sheaths and
spray nozzles.

According to the text, spargers are ---------- .

1) made of carbon composites 2) used for distribution tubes
3) the same as support member 4) used widely in process industries
According to the text, acetic acid derivatives are -------- .

1) non-corrosive compounds

2) low corrosive compounds

3) highly corrosive compounds

4) less corrosive compared with HCl and H,SO,

Carbon composites have many applications in -------- industries.
1)all 2) aerospace 3) corrosive 4) chemical process
Passage 2:

Among toxic substances reaching hazardous levels are heavy metals. Heavy metal pollution
in the aquatic system has become a serious threat today and of great environmental concern as
they are non-biodegradable and thus persistent. Metals are mobilized and carried into food web
as a result of leaching from waste dumps, polluted soils and water.

According to the texts, “web” means --------- .

1) bodies 2) chain 3) taste 4) texture
According to the texts, “persistent” means -------- .

1) not biodegradable 2) nuisance to the environment

3) hazardous pollutant 4) continuing to exist

Passage 3:

Chemical engineers have been able to take small amounts of antibiotics developed by people
such as Sir Alexander Flemming (who discovered penicillin in 1929) and increase their yields
several thousand times through mutation and special brewing techniques. Today's low price,
high volume, drugs owe their existence to the work of chemical engineers. This ability to bring
once scarce materials to all members of society through industrial creativity is a defining
characteristic of chemical engineering.
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According to the text, which of the following statements is true?

1) Sir A. Flemming discovered antibiotics mutation.

2) All members of the society benefit from low price drugs.

3) Chemical engineers are able to reduce the price by mass production.

4) Chemical engineers are capable of producing all kind of chemicals and drugs.

As used in the text, scarce materials refers to ---------- .

1) low price, high volume drugs 2) low price, high volume products

3) drugs available in small quantities 4) products available in small quantities

Passage 4:

The PVC Delta-Pak structured packing is used in stripper columns, providing high mass-
transfer efficiency with unusually low pressure losses. For an air-water atmospheric system, the
packing has 90 ft/ft’ of surface area. Del-Pak is especially recommended for applications
where high iron or calcium levels are present. The packing resists the accumulation of iron
precipitation, and therefore operates 4-6 times longer than random packing between cleaning.
Data-Pak is a trade name for --------- packing.

1) rough 2) modular 3) loose 4) random

Detla-Pak is ---------- .

1) high in efficiency and low in pressure drop 2) high in efficiency and in pressure drop

3) low in pressure drop and low in efficiency 4) high in pressure drop and low in efficiency

Cycle time in Delta-Pak is much higher compared with --------- packing.
1) random 2) ordinary 3) high efficiency 4) low pressure drop
Passage 5:

Chemical engineers have long studied complex chemical processes by breaking them up into
smaller “unit operations.” Such operations might consist of heat exchangers, filters, chemical
reactors and the like. Fortunately this concept has also been applied to the human body. The
results of such analysis have helped improve clinical care, suggested improvements in
diagnostic and therapeutic devices, and led to mechanical wonders such as artificial organs.

Medical doctors and chemical engineers continue to work hand in hand to help us live longer
fuller lives.

‘According to the above passage choose the correct sentence:

1) “Unit operations” are more complicated than human organs.

2) Most of the diagnostic and therapeutic devices are made by chemical engineers.

3) Medical doctors would not do anything without the help of chemical engineers.

4) Chemical engineers have helped medical doctors for improvement of human health.
According to the text above, finish the following sentence: The human body --------- .
1) is a complete chemical process.

2) can work with many artificial organs

3) can be broken up into small unit operations. :

4) needs more clinical care than complicated chemical plants.




Passage 6:

Some of the perturbation to ecosystems are natural while many more are caused by human
activities. Humans of course, adversely affected ecosystems on a small scale and on a large
scale. The actions of humans can be thought of as domination of nature and this idea has
spawned a new philosophical approach to environmental ethics-ecofeminsm.

28-  Major ecosystems destructions are caused by ---------- .

1) natural events 2) humans’ activities

3) natural disasters 4) humans’ rehabilitation
29- Perturbation means -------- .

1) accident 2) disturbance 3) excitement 4) pollution
30- According to the text, spawned means -------- .

1) led to 2) captured 3) accepted 4) created
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€ adl adS ol ccowl aid,S L1 Giusiow Vlojlw culw S, 0 wVIgw adsl adsl 1S as wlbuw, s 1391 Jlw auinl csuwliin, S U031 53 033S WS, ldbogls g Mbl @
Jloi @jg0 55 Uldbogls 9 ol 5l i adles zhzwwl Oldbgls aol, S Ol wlwl 9 axps WVIgw sl S vlhioslo g Ulddbgls Wi wdb,s 5l puy wowl sbiwl LB
015,85 asbol Whibai ol wdl,s Sl aS (80,8 JuoST A s wanwles s Jlal e yiiul piwuw Bb 5l Gusicw Olojlw cylw @y as>lwo L 90/12/15 du,b U wlgicso
5l Az aSiyl @ azgi b .ays)S adleses osSauaw; 5505 b sl oyl 5)le0 a0 g i adles wdl)s wiysil o Sl basd Oldbels ol ol )S5 @ oY anles pla8l el
297 algse oy JB G0 ol Sl g SHbainazs gus b asles il (ulps adsl 1S 9 Syslrex whihi 90/12/15 &b
d|3_woJlA.~u Cuz.ocb.:_,f d|g,~u o_,Lo.JJ @z.ncbu_,g J|3,w O)Lo._«b Mﬂ.u_,f d|3_woJLQ.JJ Cuz.ocb.:_,f
1 1 26 4 51 2 76 4
2 4 27 3 52 2 77 1
3 2 28 2 53 3 78 2
4 3 29 2 54 2 79 3
5 2 30 4 55 2 80 1
6 1 31 1 56 3 81 3
7 4 32 3 57 1 82 2
8 3 33 2 58 4 83 4
9 2 34 3 59 3 84 4
10 1 35 1 60 1 85 4
11 3 36 2 61 2 86 3
12 4 37 4 62 3 87 2
13 2 38 2 63 1 88 1
14 1 39 4 64 2 89 3
15 4 40 1 65 4 90 2
16 1 41 4 66 3 91 1
17 3 42 3 67 2 92 1
18 4 43 2 68 1 93 4
19 2 44 4 69 2 94 3
20 4 45 3 70 4 95 3
21 3 46 4 71 1 96 1
22 4 47 4 72 3 97 2
23 2 48 3 73 2 98 3
24 1 49 4 74 4 99 3
25 1 50 1 75 1 100 3
d|3_woJLQ.JJ Cuz.ocb.:_,f d|g,~u o_,Lo.JJ @z.ncbu_,g J|3,w O)Lo._«b cuz.a%)s d|3_woJLQ.JJ Mﬂ.u_,f
101 1 131 3 161 191
102 1 132 1 162 192
103 4 133 4 163 193
104 4 134 1 164 194
105 4 135 1 165 195
106 1 136 3 166 196
107 2 137 3 167 197
108 3 138 4 168 198
109 3 139 1 169 199
110 2 140 2 170 200
111 4 141 2 171 201
112 4 142 4 172 202
113 1 143 2 173 203
114 3 144 3 174 204
115 1 145 2 175 205
116 2 146 3 176 206
117 2 147 3 177 207
118 3 148 1 178 208
119 2 149 3 179 209
120 1 150 2 180 210
121 3 151 181 211
122 3 152 182 212
123 4 153 183 213
124 1 154 184 214
125 1 155 185 215
126 4 156 186 216
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127 4 157 187 217
128 2 158 188 218
129 1 159 189 219
130 2 160 190 220

g 0ybo] o S | | s oybois | anmo asS | | Jlgaw oot | o aisS Jlgw oplos | oo S
221 251 281 311
222 252 282 312
223 253 283 313
224 254 284 314
225 255 285 315
226 256 286 316
27 257 287 317
228 258 288 318
229 259 289 319
230 260 290 320
231 261 291
232 262 292
233 263 293
234 264 294
235 265 295
236 266 296
237 267 297
238 268 298
239 269 299
240 270 300
241 271 301
242 272 302
243 273 303
244 274 304
245 275 305
246 276 306
247 277 307
248 278 308
249 279 309
250 280 310
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Jlgw o)locis] aumo aiysS Jlow o)locss | zumo aiyS Jlow o)l | aumo aiysS Jlgw o)locs | aumo aiysS
1 2 26 4 51 2 76 2
2 4 27 3 52 2 77 1
3 1 28 1 53 3 78 4
4 3 29 4 54 2 79 3
5 1 30 2 55 2 80 1
6 2 31 3 56 3 81 3
7 4 32 1 57 1 82 3
8 3 33 2 58 1 83 4
9 1 34 1 59 3 84 4
10 2 35 3 60 4 85 4
11 3 36 2 61 2 86 2
12 4 37 4 62 3 87 4
13 1 38 2 63 4 88 1
14 2 39 4 64 2 89 2
15 4 40 3 65 4 90 3
16 2 41 4 66 3 91 1
17 3 42 3 67 4 92 1
18 4 43 2 68 1 93 4
19 1 44 4 69 2 94 2
20 4 45 1 70 4 95 2
21 3 46 4 71 1 96 1
22 4 47 1 72 3 97 2
23 1 48 3 73 4 98 4
24 2 49 1 74 2 99 3
25 2 50 4 75 1 100 4

Jlgw o)locs| oumso aysS Jlgw o)locss | zumo aiysS Jlgw o)locss | oumo aiysS Jlgw o)locss | oumes aiyS

101 1 131 3 161 191
102 1 132 2 162 192
103 3 133 4 163 193
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104 3 134 2 164 194

105 3 135 2 165 195

106 1 136 3 166 19

107 2 137 3 167 197

108 7 138 4 168 198

109 7] 139 3 169 199

110 2 140 2 170 200

111 3 141 2 171 201

112 3 142 4 172 202

113 1 143 2 173 203

114 4 144 1 174 204

115 1 145 2 175 205

116 2 146 1 176 206

117 2 147 1 177 207

118 4 148 3 178 208

119 2 149 1 179 209

120 1 150 2 180 210

121 4 151 181 211

122 3 152 182 212

123 4 153 183 213

124 2 154 184 214

125 2 155 185 215

126 4 156 186 216

127 7 157 187 217

128 1 158 188 218

129 2 159 189 219

130 1 160 190 220

s 0l awxo @S | | s oyl | umo asS | | Jlsw oo | o awsS Jlow oylocis | cumo s

221 251 281 311

222 252 282 312

223 253 283 313

224 254 284 314

225 255 285 315

226 256 286 316

227 257 287 317

228 258 288 318

229 259 289 319

230 260 290 320

231 261 201

232 262 292

233 263 293

234 264 294

235 265 295

236 266 296

237 267 297

238 268 298

239 269 299

240 270 300

241 271 301

242 272 302

243 273 303

244 274 304

245 275 305

246 276 306

247 277 307

248 278 308

249 279 309

250 280 310

LJ|9_woJLn_u1 tu.x.oﬂbu)g LJ|9_uJ OJLA_AII cux.ad.u)g LJ|9_u1 O)LA_JJ auxaq‘;)g LJ|9_uJOJLn_JJ tu.x.oﬂbu)g

1 4 26 1 51 3 76 3
2 1 27 3 52 2 77 1
3 2 28 2 53 3 78 2
4 3 29 2 54 3 79 7
5 2 30 1 55 2 80 1
6 4 31 4 56 2 81 4
7 1 32 3 57 1 82 2
8 3 33 2 58 4 83 3
9 2 34 3 59 2 84 3
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10 4 35 4 60 1 85 4
1 3 36 2 61 3 86 4
12 1 37 1 62 2 87 2
13 2 38 2 63 1 88 1
14 4 39 1 64 2 89 4
15 1 40 4 65 4 90 2
16 4 41 4 66 2 91 1
17 3 %2 3 67 2 92 1
18 1 43 4 68 1 93 3
19 2 44 2 69 2 94 4
20 1 45 3 70 4 95 4
21 3 46 4 71 1 9% 1
2 1 47 4 72 4 97 2
23 2 48 2 73 2 98 2
24 4 49 4 74 3 99 3
25 4 50 L 75 1 100 4

Jlgw 0yloss|  cuses S Jloww olocis | cumo aiusS Jlsw o)l | umo asS | | Jloww o)los | o awsS
101 1 131 3 161 191
102 1 132 4 162 192
103 3 133 1 163 193
104 3 134 4 164 194
105 3 135 4 165 195
106 1 136 3 166 196
107 2 137 3 167 197
108 1 138 1 168 198
109 1 139 4 169 199
110 2 140 2 170 200
111 4 141 4 171 201
112 4 142 4 172 202
113 3 143 4 173 203
114 1 144 3 174 204
115 3 145 2 175 205
116 2 146 3 176 206
117 2 147 3 177 207
118 3 148 1 178 208
119 2 149 3 179 209
120 4 150 4 180 210
121 3 151 181 211
122 1 152 182 212
123 1 153 183 213
124 4 154 184 214
125 4 155 185 215
126 1 156 186 216
127 1 157 187 217
128 2 158 188 218
129 4 159 189 219
130 2 160 190 220

g 0ybo] o aiS | | o oybos | anmo asS | | Jlgaw oot | o aisS Jlgw oplos | oo s
221 251 281 311
222 252 282 312
223 253 283 313
224 254 284 314
225 255 285 315
226 256 286 316
27 257 287 317
228 258 288 318
229 259 289 319
230 260 290 320
231 261 291
232 262 292
233 263 293
234 264 294
235 265 295
236 266 29
237 267 297
238 268 298
239 269 299
240 270 300
241 271 301
242 272 302
243 273 303
244 274 304
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245 275 305
246 276 306
247 277 307
248 278 308
249 279 309
250 280 310
Jlgw o)loci| oumso aysS Jlgw o)locss | zumo aiysS Jlgw o)locss | oumes aigS Jlgw o)locss | oums asS
1 1 26 3 51 2 76 1
2 3 27 4 52 2 77 1
3 2 28 2 53 1 78 2
4 4 29 2 54 2 79 3
5 2 30 3 55 2 80 4
6 1 31 2 56 1 8L 3
7 3 32 3 57 3 82 2
8 4 33 1 58 4 83 1
9 2 34 3 59 3 84 1
10 1 35 2 60 3 85 4
1 4 36 1 61 2 86 3
7 3 37 4 62 1 87 2
13 2 38 L 63 3 88 1
14 1 39 4 64 2 89 3
15 3 40 2 65 4 90 4
16 1 41 4 66 1 91 1
17 4 42 3 67 2 92 1
18 3 43 1 68 3 93 2
19 2 24 4 69 2 94 3
20 3 45 3 70 4 95 3
21 4 46 4 71 3 9% 1
2 3 47 4 72 3 97 2
23 2 48 1 73 2 98 2
24 1 49 4 74 1 99 2
25 1 50 3 75 4 100 2
Jlgw 0yloss|  cuses S Jlow olocis | cumo aiusS s o)l | umo asS | | Jlow o)los | o awsS
101 1 131 2 161 191
102 1 132 2 162 192
103 4 133 4 163 193
104 4 134 2 164 194
105 4 135 2 165 195
106 1 136 3 166 196
107 3 137 3 167 197
108 2 138 4 168 198
109 2 139 2 169 199
110 3 140 1 170 200
111 4 141 1 171 201
112 4 142 4 172 202
113 1 143 1 173 203
114 2 144 3 174 204
115 1 145 2 175 205
116 3 146 3 176 206
117 3 147 3 177 207
118 2 148 2 178 208
119 3 149 3 179 209
120 1 150 1 180 210
121 2 151 181 211
122 2 152 182 212
123 4 153 183 213
124 1 154 184 214
125 1 155 185 215
126 4 156 186 216
127 4 157 187 217
128 3 158 188 218
129 1 159 189 219
130 3 160 190 220
g 0ybo] o S | | o oybos | anmo asS | | Jlgaw oot | o aisS Jlgw oplois | oo S
221 251 281 311
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223
224
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226
227
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229
230
231
232
233
234
235
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242
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282
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312

284
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314
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315

287

316

288
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289

318

290

319

291

320
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303
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307
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